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Hinclude <stdio.h>
main)
{
int i;

double x,v=0.0,2=1.0;
double c[4]=1{4.0,3.0,2.0,1.0};
printf("x=");
scanf ("%1£7,8) ;77 Ok
for(i=0;i<d;i++){

y += cli] * z;
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Binclude <stdio.h>
main()
{

int x,v;

printf("x,v=");
scanf ("%did”, &x, &yl Ay

¢ e

if(x <= -5)
printf ("A¥n");

}else ifix == 0){
printf ("B¥n");

} else if(x < -3 && 3 <= vi{
printf ("C¥n");

}else iflx < -3 1] 3 <= )]
printf ("D¥n");

Pelge if(x 1= 18 v ==2){
printf ("E¥n");

z X= x; }else {

I printf ("F¥n");
} printf Cyv=Z11¥n",v) ;7 ok } 1
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